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	Card Name (APR %)
	Existing Balance
	Credit Limit

	MarK2 (6.5%)
	$475.00
	$3,000.00

	Bee4 (10.1%)
	$1,311.48
	$2,500.00


You have $400.00 each month to pay off these two credit cards. You decide to pay only the interest on the lower-interest card and the remaining amount to the higher-interest card. Complete the following two tables to help you answer questions 1–3.
Higher-Interest Card (Payoff Option)

	Month
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Principal
	$1,311.48
	$925.09
	$535.45
	142.53
	
	
	
	
	
	

	Interest accrued
	1311.48*.101/12= $11.04
	925.09*.101/12= $7.79
	535.45*.101/12= $4.51
	142.53*.101/12= $1.20
	
	
	
	
	
	

	Payment (on due date)
	400-2.57=

$397.43
	$397.43
	$397.43
	142.53+1.20 = $143.73
	
	
	
	
	
	

	End-of-month balance
	1311.48+11.04-397.43=

$925.09
	925.09+7.79-397.43=

 $535.45
	535.45+4.51-397.43=

$142.53
	$0
	
	
	
	
	
	


Lower-Interest Card (Payoff Option)

	Month
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Principal
	$475.00
	$475.00
	$475.00
	$475.00
	$221.30
	
	
	
	
	

	Interest accrued
	$2.57
	$2.57
	$2.57
	$2.57
	$1.20
	
	
	
	
	

	Payment (on due date)
	$2.57
	$2.57
	$2.57
	256.27
	$222.50
	
	
	
	
	

	End-of-month balance
	$475.00
	$475.00
	$475.00
	$221.30
	$0.00
	
	
	
	
	


1) How long does it take to pay off the higher-interest card?
It takes 4 months to pay off the higher-interest card first.

2) What is the amount of the last payment on the higher-interest card? Why?
The last payment on the high-interest card is $143.73. It is less than $400 because you’ve paid off all of the remaining balance.
3) At the end of the month that you pay off the higher-interest card, after you have started to pay down your debt on the lower-interest card, what is the balance of the lower-interest card? Why?

The balance on the lower-interest card when you have paid off the higher-interest card is $221.30 because in prior months you were only paying the balance, and only in the last month do you pay down the principal using the money left over after you pay off the high-interest card.

Complete the following two tables to help you answer questions 4–5.

4) Rework the problem so that you pay off the lower-interest card first. 
5) How much money do you save by paying off the higher-interest card first? 
Lower-Interest Card (Payoff Option)

	Month
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Principal
	$475.00
	$88.61
	
	
	
	
	
	
	
	

	Interest accrued
	$2.57
	$0.48
	
	
	
	
	
	
	
	

	Payment (on due date)
	388.96
	$89.09
	
	
	
	
	
	
	
	

	End-of-month balance
	$88.61
	$0.00
	
	
	
	
	
	
	
	


Higher-Interest Card

	Month
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Principal
	$1,311.48
	$1,311.48
	$1,011.61
	$620.12
	$225.34
	
	
	
	
	

	Interest accrued
	$11.04
	$11.04
	$8.51
	$5.22
	$1.90
	
	
	
	
	

	Payment (on due date)
	$11.04
	$310.91
	$400.00
	$400.00
	$227.24
	
	
	
	
	

	End-of-month balance
	$1,311.48
	$1,011.61
	$620.12
	$225.34
	$0.00
	
	
	
	
	


The amount of money is the different of the total of payments between the first set of tables and the second set of tables.
The total of payments in the tables where you pay off the higher-interest card first is $1822.50
The total of payments in the tables where you pay off the lower-interest card first is $1827.24
You save the difference, $4.74, by paying off the higher interest card first.
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